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1 33661135 hn4nqu, lutppf4nqur a( hurn tB0 800 144000

z t3661128 ,turnpudurqhu.lht q( nulp t9 3840 72960

3 33671113 Uutpnturudnl q4 mnlrn 1950 48750

A 3362t720 nhununntnth $ntrJurnurn 5 dq (UnlLUnn) q4 nu.lp 53 28BO t52640

5 33661142 -ILilrmpfqLnf lftlt
q4 hun t2 2400 28BOO

6 33661121 urobtnhruuthqhturBBnt 100 mg q4, hurn 35 1080 37800

a 33691196 Fhuruhnhnnt 4ilq Tq nurp 290 360 104400

B 3362176r
urghmfrluru$gfrlur-ppnt, rlurqthqfrnulir h[4popu[t4

/bu-rnnhnrlurohhr/ 75me
]\ hutp 23 4320 99360

9 33621520 gruSuqpfrfr rlurlhu.rtn, hfr4pnplnpnp[urqfr4 ($ruq FL, +(. hurp 40 1500 60000

10 33631300 rhmnurnnt,lrl'r qlrt /hurJurndbp $uumnLf qh1/ :'4. hurm t700 40 68000

I1 33631300/l qhmnutnn$hb nhnuuuruhd 45 720 32400

12 33621510 qulrlmnqnhl 50mg l\ huln 46 1440 66240

13 3362t370 honunnnhnh nhhhurnum q4 hurp 27 720 19440

t4 33671134 Llhphhnnnt hh/nf uq n1lilt/ Tq nnudb 26 720 18720

15 33621690 -runUbnhtnt l\ nurF 1A 360 8640

16 33621140 {lnuhnnqnht ]q hurn 155 1440 223200

T7 336511n ulrloBuhqhthh 50Omg
q4 hurn 50 60 3000

1B 33631290 nnn r unn$hh (hnr nn$hh) durhh urU urtr o2urp u 1.1 ?h2 lB50 t5 27750

19 33651112 udopuhqhthtr, Uuthnrfh p1u.r{nr1urhurur 156 q4 ?h? 1500 10 15000

20 33651[v1 ul-lopuhq ht hh, h urt hnulh p| ru{nr; urhu.rur 312 cI4.
?11? 2700 z 5400

21 24321410 otihqur 3 6unuurppnt \(- nup 100 lB00 180000

22 33631310 lnhhrnt'hhurh hurp 100riq N30 lq rnnrth 460 3 l3B0

23 33631290 lhnmunn$ht400ilq Y'( hu.rp 53 20 t060

24 33671131 nnurmurnhli lQtlg 1( hurn 28 30 840

ntr 3365|25 ilqhBnnrjhghh 250ilq,500ti \( nurp ",a 30 810

26 33621390 Udhnnurnnh lq hurm 70 1800 126000

27 33621750 t hShnhulhl:
q4, hunn i0 30 300

28 33661153 'Fhpuu-rfhnuron\t 'iq unrlulh 90 10 900

29 33611360 lfunrhhurtqh$hpnl /r-rurlgfrrl3/ q4, hurn 46 1080 49680

30 33621390/1
ullfrn4rupnh (ullfrn4urpnhfr h[4pnp1npf4)

,/bnnnrrrnnlr/ 2OO tlo
q( hutp 70 720 50400

31 33621590 $nrnnuhrlhn 40 dq 1q nurp 5 1080 5400

33691270 uu rlbrnhnnt +$tnunhLurqnl-r 50/100 q4. hrum 10500 1') 126000

55 33651118 rh$rnnhurpunh l.0 mg tq hu.rut 160 20 3200

-Jq 33611360
unlh\urlgfr$pn1 15000 t,|Ll/ri1 \urpfrlthp lthpp$-r

rlrnn11rrfirrlr hrrrftttn
q4 hurm 2300 60 138000

35 33621420 Urnnnhu 20 dq 94, huF 6 1440 8640

36 3362t420 Uunnhu 40 dq q4 nLuF u5 1080 91800



37 33621530
\,n$qp\ A[-$npmh (qhphtqnqnht
urnqhhhll0ilq/hbnuuuttlhur 2.5 ilq)

q4 hurp 150 720 108000

3B 33621460 qnhumufuu 10/10 q4, nrxF 150 360 54000

39 33621560 fuurnmhr {nurdhunht 5 ilq) q( nurp qo 720 42480

40 33621480 qpburnurplrnul 5 rlq (qhpftl4nqpfrl 10/rurlln4[q[L 10) .E hrup 63 720 45360

41 33621620 Llhnnrruhnnt 25Uq q4, hurn 55 720 39600

42 33651252 lhurumnnqnt q( hun 4s0 360 162000

43 33621460 rnbuurutu 10/10 Ltu hurp r95 480 93600

44 33611360 -lurqhnril r\3 uu hu-rp 55 t750 96250

45 33651252 JLurumnnqnt t-ru hurp 450 210 94500

46 3362t420 lmnnhu 20 dq Ltu hurp 67 1450 97150

M 33631300 -Ihurnturt 50ilq Lfu hurp 50 1000 50000

48 3362t720 rhunurnnrnrh $nrdurnunn 5 ilo {bntbnn) uu hurp 57 1750 99750

49 33621390/
ull[n4rupnh (urilfrn4upnltft h!4pnp1npf4)

/Qnnnurnnh/ 200 r.lo
uu horp 90 1000 90000

50 33621530
l,nf qp\ Af -Snpmh (qknblrn"utpht
u,rnqhLhll0dq./hbnuuulihur 2.5 dq)

t_ru h*p tB4 500 92000

)l 33621480 qphurnurpfrnll 5 dq (qhpft4nqpfl 10/tud1n4[qft 10) riu hrrp 76 1300 9BBOO

52 33691196 n'hurrurpunt 4riq uu nurp 220 450 99000

53 33621620 rlhnn'rurhnnfu 25rJo Lru hurp 55 181B 99990

54 33661121 Llohmhruurrhohrurrabnr 100 ms uu hurn 2E 2800 98000

55 33621420 Urnnnhu 40 tlo t.fu hurp B5 t170 99450

56 3367n34 Jhphhnnnr hl/nhurq nt htu/ uu hurn 23 1340 30820

AT 33621590 $nrnnuhrJhn 40 rlq t_ru nun 5 1000 5000

5B 33621520 hLruluqpfr$ rlurlhuln, hfr4pnplnpnpfruqb4 ( bttut ul H ) t.ru hup 52 1900 9BBOO

Ot4u[htup 3383400

2. I'nru uhfu rruhru rhfu tutrtnufu plhn
2245|80 Llu-rhLulhu,rl-r Burnur /mnu, ulqghh/ t_ru hurur 190 60 i1400

22451180 063 AU uu huln 50 50 2500

22451lBO 002 6tr Ltu huln 7 500 3500

4 22451180 nhnulnndu unrl nnu-rl-rurfu uu hurur 5 100 500

5 39263200 rlurnurl-rhr hhrlulhnnrrarnrfuhhnh dururr urfu uu hurur 1300 1300

6 2245 tB0 ourn tlurbo rlbburhuruurLhhnh Lru huln 5 50 250

7 2245180 purndurbp hnkhutLhnh uu hurur 5 100 500

B 2245n80 rbnurmnrlu hnqhdhm hnhtonhhuLn il Lru huln 1'7 50 850

o 22451180 rrnhq.hn N5 uu hrum 7 1000 7000

10 2245t180 102 &h uu nrurn 7 500 3500

11 22451lBO rhn ururnrJu unil nnurhuL uu hurm 5 100 500

t2 2245|80 126 &U LIU hurm 60 l0 600

H4ullltfup 32400
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